



$$hl = l_2 \sin \alpha - l_0$$

$$d_2 = \sqrt{l_2^2 - hl^2}$$

$$= \sqrt{l_2^2 - (l_2 \sin \alpha - l_0)^2}$$

$$= \sqrt{l_2^2 - l_2^2 \sin^2 \alpha + 2l_2 l_0 \sin \alpha - l_0^2}$$

$$lb = q_1 + d_1 + d_2$$

$$d_2 = lb - q_1 - d_1$$

$$l_2^2 - l_2^2 \sin^2 \alpha + 2l_2 l_0 \sin \alpha - l_0^2 = (lb - q_1 - l_1 \cos \alpha)^2$$

$$= lb^2 + q_1^2 + l_1^2 \cos^2 \alpha - 2lbq_1 - 2l_1 lb \cos \alpha + 2l_1 q_1 \cos \alpha$$

$$[l_1^2 \cos^2 \alpha + \cancel{l_1^2 \sin^2 \alpha}] + 2l_1 q_1 \cos \alpha - 2l_1 lb \cos \alpha - 2l_1 l_0 \sin \alpha$$

$$= l_2^2 - l_0^2 - lb^2 - q_1^2 + 2lbq_1$$

$$[2l_1 l_0] \sin \alpha + [2l_1 lb - 2l_1 q_1] \cos \alpha = lb^2 + l_0^2 + q_1^2 - l_2^2 + l_1^2 - 2lbq_1$$

$$l_0 \sin \alpha + [lb - q_1] \cos \alpha = \frac{lb^2 + l_0^2 + q_1^2 + l_1^2 - l_2^2 - 2lbq_1}{2l_1}$$

$$2l_1$$



$$\sqrt{l_0^2 + [lb - q_1]^2} \sin \left[ \alpha + \tan^{-1} \left[ \frac{lb - q_1}{l_0} \right] \right] = \frac{lb^2 + l_0^2 + q_1^2 + l_1^2 - l_2^2 - 2lbq_1}{2l_1}$$

$$\sin \left[ \alpha + \tan^{-1} \left[ \frac{lb - q_1}{l_0} \right] \right] = \frac{lb^2 + l_0^2 + q_1^2 + l_1^2 - l_2^2 - 2lbq_1}{2l_1 \sqrt{l_0^2 + [lb - q_1]^2}}$$

$$\alpha = \sin^{-1} \left[ \frac{lb^2 + l_0^2 + q_1^2 + l_1^2 - l_2^2 - 2lbq_1}{2l_1 \sqrt{l_0^2 + [lb - q_1]^2}} \right] - \tan^{-1} \left[ \frac{lb - q_1}{l_0} \right]$$



$$\phi = 90 - q_2$$

$$\frac{\sin 90^\circ}{l_2} = \frac{\sin \phi}{l_1 \sin \alpha - l_0}$$

$$\Rightarrow l_2 \cos q_2 = l_1 \sin \alpha - l_0$$

$$\alpha = \sin^{-1} \left[ \frac{l_2 \cos q_2 + l_0}{l_1} \right]$$

$$\frac{l_2 \cos q_2 + l_0}{l_1} = \sin \left[ \sin^{-1} \left[ \frac{lb^2 + l_0^2 + q_1^2 + l_1^2 - l_2^2 - 2lbq_1}{2l_1 \sqrt{l_0^2 + [lb - q_1]^2}} \right] - \tan^{-1} \left[ \frac{lb - q_1}{l_0} \right] \right]$$

$$\cos q_2 = \frac{l_1 \sin \left[ \sin^{-1} \left[ \frac{lb^2 + l_0^2 + q_1^2 + l_1^2 - l_2^2 - 2lbq_1}{2l_1 \sqrt{l_0^2 + [lb - q_1]^2}} \right] - \tan^{-1} \left[ \frac{lb - q_1}{l_0} \right] - l_0}{l_2}$$

$$q_2 = \cos^{-1} \left[ \frac{l_1 \sin \left[ \sin^{-1} \left[ \frac{l_b^2 + l_0^2 + q_1^2 + l_1^2 - l_2^2 - 2l_b q_1}{2l_1 \sqrt{l_0^2 + [l_b - q_1]^2}} \right] - \tan^{-1} \left[ \frac{l_b - q_1}{l_0} \right] - l_0}{l_2} \right]$$

10-6301



$$L_2 \sin q_2 = L_1 - L_1 \cos \alpha - q_1$$

$$q_2 = \sin^{-1} \left[ \frac{L_1 - L_1 \cos \alpha - q_1}{L_2} \right]$$

$$q_2 = \sin^{-1} \left[ \frac{L_1 - L_1 \cos \left[ \sin^{-1} \left[ \frac{L_1^2 + L_2^2 + q_1^2 + L_1^2 - L_2^2 - 2L_1 q_1}{2L_1 \sqrt{L_2^2 + [L_1 - q_1]^2}} \right] - \tan^{-1} \left[ \frac{L_1 - q_1}{L_2} \right]}{L_2} \right]$$

$$\frac{15434}{15470.1577}$$